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Please check whether you have got the nght queﬂmn paper -'f .

N.B: 1. Question No.1 is Compulsory. ) T %mﬁ L

2. Answer any three from the remammg questmns., Sl
Q.1 (a) Define Robotics and Explain its Classification. o & Fay & “ N 05

(b) How do you characterize robot specifications? ~ * foyteiioyy 5 ey <05

(c) Describe robot workspace. P g '_ Al GG RN SR 1

(d) Explain various robot applications. TR S W W OO e 05
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Q2 (a) Explain Robotic Components? Whatisfﬂnuard andlmrerse Kﬁl.’iEmaﬁf.‘S‘i vl 10
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(b) Aframe F has been moved 15 unlts alnng the T*HEIS‘EHELJ-S Uﬁﬁ!{ﬁ!ﬂng the Z axis of the reference frame. 10
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Q3 (a) ApointP (8, 4, ‘1}T is attachecl tu a frame“‘a d is su”‘b;ected tq thefullnwmg transformations. Find the 10
coordinates of the point reiatwe tothe rg.feﬁéuce frame at the conclusmn of transformations.
1. Rotationof 90 degreg{ahuuj; the. Zoaxis. 5
7.3 Fnlluwedhy a rotation uﬁﬁﬂ;ﬂgg}ee ahcaut the ‘f axls
3 qulawed b*,r a traﬂﬂgﬂanﬁ‘fp +1; 2]
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(b) The Jambm .Uf a rnbut at\a c[1'1];';11’(,u;u|a\r tsme 15 gwen Calcu late the linear and angular differential motions of 10
the robot’s. hand  frame-for thé given Jmnt dITfErentlaI motions.
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Ct4 {a} An%bjm,?&ﬂachedtu a frame B is'subjected to the forces and moments given relative to the reference 10
; framéf ~Fmd the equwalent ’furces and moments in frame B.
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